K % EE1 R | EE2 B & JL— K 4 B K& & (B2 & & ) L—
WH K& |1 %28 2mi0 100m 12. 88 WA s =3 || #EBk :2m90
pRE Mt | =2 | #SEk 14m00 100m : 11.96 BiE e =3 || #EBk :2m70
pERE IRkt | =1 | #SBE 4mTT 100m : 12.18 Al ST 3 || EEBE i1m35 HEFH 56. 40
WE EE | h3|| #E8 :3m80 100m § 11.74 |[SEH 46.79 Al LE 3 [ 100m i14.04 200m i29.13 | &R 54.15
IEARR—ER | &3 | fustix i8m79 100m § 12.01 |[&EH 46.79 il 1= F3 | #EEEk i2m60 100m i14.68
BE EEE | B3| =Bk i12m39 200m i 24.18 || #&4 47.11 x 13 F3 | HEBk i2m30 100m i15.16 (AL 55. 41
ZEH #RE | B3| 100m :12.86 200m i 25.13 || #& 47.11 A% B 3 | 800m i2.47.16
BrIER  ZRBh | B2 || S Bk (3m60 100m § 12.96 |[SEH 46.79 BE ZF 3| 100m :i14.87
BRE BEE | $2| 400m :58.71 Glanz 48.90 HE BR 3| 100m :14.37 100mH :18.9 ZJRrh 54.15
JREE R | 2| 100m i13.6 Glanz 48.90 HE #0DY 3| 800m :2.32.92 | 1500m :b.20. 48
A B3 | 2| 100m :12.89 200m i 26.47 |[R[E 46.79 KT Fikex 2 || #EE Bk 2m80
iRk EBX | 2| 100m (13.06 200m i 26.52 [ Glanz 48.90 e WX 2 || Faik i7m78
FEKOEZ | B || EEB 2m90 100m § 12.57 || Glanz 48.90 HE HE 2| 1500m 5. 26. 94
HEZE %W | 41| 800m :2.52.91 A ER 2| 100m i13.63 200m :28.75 |[&[EH 54.15
WA #\ZF | 1 800m :2.57.09 KB X F2 || #EEE 2m50 100m :14.98
BN DTE 1| 100m :14.27 100mH ;18.02
e mE F1f 100m i15.13
DX BT F1f 100m 13.83 200m :28.39 ¥ 54.38
g ZBETY 1 #EEEk i2md0 100mH i17.96 |[ Glanz 54.18
HF XX 1] 100m :13.6 Glanz 54.18
&FHE R4 1| 100m i13.98 EMEBE (4ma1 Glanz 54.18
HE MK 1| 100m :14.12 200m :29.59 | Glanz 54.18




